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Topic to be discussed : Elements and Compounds, Periodic Classification of Elements

1.

2.

3.

4.

5.

6.

7.

Elements and Compounds

Which pair of elements has the similar chemical
properties? (Z means atomic number)

-2=11;Z=19
LesTeudbLd 6Tbs BeRMe FHevllomiseT @58 CoudLILIETITL|HEm6rT
Qubmieteng? (Z=iewy ereton)

-2=11;Z=19
Plaster of Paris is
1
- Caso,. Py H,0
unifev Fnrbg)| eresTLIg _ O@L.
1
- Caso,. 5 H,0

Which is Gypsum among the following?

- CaSO,.2H,0
ZBFD eT6tTLIG SPSHHETTLEUDINED 6187

- Cas0,.2H,0
The chemical formula of blue vitriol is

- CusO,.5H,0
Beo eflrfiwimed erstTLIBeT Geud) eumiLILITG

- CuSO,.5H,0

The approximate chemical composition of Dur-
alumin is

- Al =95%, Cu = 4%, Mg =0.5%, Mn = 0.5%
leupnmeyiiesilesr Gsmomuwinmest Geud SemuiL|

- Al =95%, Cu =4%, Mg =0.5%, Mn = 0.5%
Which one of the following atoms has the larg-
est covalent radius?

- Lithium
sefibmisefleo Falfemewilil SpOb Ws HSSLMS
2 _eiTeng) 618)?

- 6655wid
What is the chemical name of sand?

8.

9.

10.

11.

12.

13.

- Silicon dioxide
evoredledr Geudufiuieo EILILIT eTedTeDnT?
— Fo6hHNGT GL DbhHMa0bH

Which of the following elements are called met-
alloids?

- Ge, As, Sb
ab5s5 SefibmssTt 2 Geonsl  GumedlssT  ereiTm)
SlmP&HSLILIGS 6T ?

- Ge, As, Sb

The heaviest naturally occuring element is
- Uranium

@b SevIDNer, QuINenasuieo srewrleLnID 2 Geomaid

- wegoefiub
Which is called as blue vitriol?
- CusO,.5H,0
Beo e flwimed eresTmeEnSEILBES 6T&I?
- CuSO,.5H,0

Which alloy of Aluminium is used in boat ma-
chinery?
- Duralumin
SIS Sei 6lbg 2 Beonss SHevenel LILG 6lbSTSHe0
LwesTLBSmEI?
— JUbTIoyIbGT
In which of the following minerals, Aluminium
is not present?
- Fluorspar
sevfimisefled Jleyilefluid Geoeonsg) e1g)?
— YeaTmiTeroumiy
Which compound is used as smoke screen?
- PH,
LewasHemruled LwleTLESSILGL GFIDD e18)1?
- PH
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14.

15.

16.

17.

18.

19.

20.

21.

22.

The compound which is used to produce smoke
screen is

- PH,
Le»a5SemIenul ©_6uILnésLl LuleiL@Bh G&ibLd
- PH,
Producer gas is a mixture of
- CO+N,
2 MHLGES eurw eTeoTLIg) _ S606MeNINGLD.
- CO+N,
Which of the following is called as

Carborundum?
- Silicon carbide
618] SMTGUITIMENILLD 6160 SHewP&HSLILGSDSI?
— F8BBIGT BHiTaOU®
The aprotic solvent is
- HF(Hydrofluoric acid)
LGUMLLITEST ST SEMTLILITEST 6T6TLIS] _
- HF(cmanegmyasiis siibooid)

Which of the following pair of elements differ-
ent from the other?

- Li-Mg
Benewt gedflbmisafled LMMLLL Genewr Gevfl LDk &6
6T6M6Y ?
- Li-Mg
The important heat trapping gas in the
atmosphere is
- Carbon dioxide
auarfioetrLeodded A ILIGmS Bewed BMIGSHILD (poHHwt eurmwy
— BETUAT—GOL— DhBHOF(H
Which of the following compounds is called Bak-
ing Soda?
- Sodium bicarbonate
G5ITDGSHE0 CIBMS 2_LIL| 6T6iTN) 618 HMPSHSLILGSBMSI?
— esmgd GOu HITUSATL

Which is correctly arranged in their increasing
order of reactivity?

-Na>Ca> Mg > Al
semenrsSmenr  leliLewLuled  gmeufiensuiiedo  erg
gflwmeorg)?

-Na>Ca>Mg>Al
What is the compound of calcium used in while
washing buildings?

- Calcium Hydroxide

23.

24,

25.

26.

SLLLMISEHSHS 6lQu6TensTWRILGNH@SD  LweirL@LD
sneodlgdett GFDLD 615)?
= BINFD manLEgTHams(h
Which one of the following metal is not present
in steel?
-Zn - Zinc
a@6iled GLID OWPNs 2 Geonaid 618)?
-Zn - ggris
The metal which melts at Human body tempera-
ture is
- Gallium
werfls 2 L6d OeuiLBemeouiiedo 2 HSD 2 Ceonaid e1&I?
— Bmebwid
The ratio of Ne and He gases used in He-Ne laser
is
-4:1
He-Ne Gevafled Lweu@ssluBD eumusasefleo Ne
whmitb He eumwigast anbg elldgs56 2 6meng).
-4:1

What are the chemical present in match stick?

- Antimony sulphide, sulphur, potassium chlorate

27.

28.

29.

30.

S5@&8l60 2_6ter GaulIOLIMBLSET WiTeneu?
— ghawrywaf FAGUb, BHHHID, OUTLLTFLD GHSATTETL
Water gas is
- a mixture of COand H,
BiT 6umuy eTedTLIS)
- CO vimid H, e#ith5 31 sovama
The most abundant element in the earth’s crust
is
- Oxygen
LpBlufedo SiPsne SBsED Fevflbd
- ShHASWAT
Which element is not used in the manufacture
of defence equipments?

- Sodium
UrgISTUADSTET  LEDLSSHE06TSHmET 2 (heuT&H&LI
LIW6STLIBLD 2 Geomasd DHeveongd| 618)?

— ezmigub

Liquid nitrogen as applied to crops contains
- slurry of water, urea and ammonium nitrate
SraiBeneouled FTOUIHIGEHHES EDHLIR6ET 6ULDHIS

LIWeTL@ESSILEGLD QML serfled smemriL@eug)

- Bits wprfiur wHmd sibewrafiud amieyg GubyBHames Hovana
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31.

32.

33.

34,

35.

36.

37.

38.

Elements with an atomic number above ...........
are called super heavy elements.

-104
OIGY) 6T6TM ................ HS NSNS 2_6iTenm SeuflDrhis6T
SN sevT HevllomIG6T 616N HEWLPESLILIBS 6TTM6DT.

- 104

The 17th group Elements Fluorine, Chlorine,
Bromine, lodine and Astatine these are collec-
tively known as Halogens. It is derived from two
Greek words, Halo and Gens meaning.

- Salt - producer
17 augl seflio OgneSuleysiter sLeenifleir, &Gemmier,
LUGomisledr, HGWImigedT LHMILD oL ewL6IT Db wiewr
BameLR6EITH6T 61601 HMWPEHSUILBSEDE. B& Cameom
OHMID QgesTev ereitm HCI&HS eumiSHewsudled®Hbal
QUDLILI'L 66 - GG60T EILIMH6IT
= o licou — L HaUNHEG AT
What is the percentage composition of carbon
in steel?
-0.25% - 2%
61860 HTETLILELD SMTueller Fg6is lermey ereusueey?
-0.25%-2%
The Indian Salt Petre is
- Potassium nitrate (KNO,)
Srbdwett gmeor LT LG
- qumeLmsiub cpeege (KNO,)
Which one of the compounds is not a protonic
acid?
- B(OH),
G&DSHe0 618 LGIMLLTEN SiLS60lD 60607
- B(OH),
TV antenna elements are made up of
- aluminium
1g.65. DpeToTL6uTT QFUILILT LILITTLIB6US)
— Sloybasfiutb
Gypsum is added to the cement for o
- delayed setting
fleemrged  AUFD GCFTHSILGSDSTET &TT6wID
ODbSLD.
- Q&L IILIELD SH6TTENEDW FMDSLILGSS
Oxygen, hydrogen, and sulphur are examples of
which of the following?
- Non-metal
Oy &R60T, MADLTREI HMID FeoLIT SpBWiemer THNS
2 SMrewriD?

39.

40.

41.

42.

43.

4.

45.

46.

— olecommid

Which is a short and scientific way of represent-
ing one molecule of an element or compound?

- Chemical formula
(b Sevfloib HMID CHFTLDSSE eLpevs:FacnD 6hg 65560
&M &SHE0MD?
- sauFHiucd cumiiliume
The metals which is a liquid at room tempera-
ture
- Mercury
SlempeailiLBeneoullsd Speulpns 2 etem 2 GeonsLd
- unpgFd
An element which is always lustrous, malleable
and ductile
- metal
eLOLTPSIGLD LeTUeTLILITeT, alemeaTil&aaloul, el
SHESTEDLDWETET GHevflold e1g ?
- 2 goonsid

The smallest particle of matter that can exist by
itselff .~

- Atom

umLeLneflel W&ses Anflwl guseit

- Siewsl

A compound containing one atom of carbon and

two atoms of oxygen is -

- Carbondioxide

QB SHITLIEHT 6w BT6TB D560 HEHSHET 61SHT6TTL

G&b
— BNTUGTGOL DbbOF(DH

is the only non-metal conducts elec-

tricity.
- Graphite
___ OeENISmss SLSGID @CIOWIT® HEeosLD.
— $grenuLe
Elements are made upof ____ kinds of atoms.
- Same
SeflbraigeT CUEDSWITET DG 5 SH6ITITED

2 _meunssLl LBSesTment.
- 3¢5
____ ofsomeelements are derived from Latin
or Greek names of the elements.
- Symbols

sellbd  ewgHetT  Debeog HCIssL

euwirserfledlpbg QMLILILL 6.
- @YuipadT
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47.

48.

49.

50.

51.

52.

53.

54,

number of known ele-

There are
ments.

-118
Sagaueny dAIMwliurL  sellbmiseflen 66t emnfl&ens

- 118

Elements are the

__ form of pure sub-

stances.
- Simplest
SESIDrBIGET MW eLn@pLseflest _ eugeuld
— crafanwmmraT

The first letter of an element always written in
_ letter
- Capital
sevflibrseafler aOUWenT aEHID CUTE (PSHED TRHMS
auGUTEHIGD _  eip5smed erps GeustorBLd
- Quifiu

Molecule containing more than three atoms are
knownas

- Poly Atomic Molecules

PN NS5 EHSHS GLDEOTS 2_6TAT eLPED e M) SHEm 6T
_ elpevsEamISeT 616iTM| HEMLPESEOILD.

— Lo DIGRBI APoVD B IBGT

Mercury: liquid at room temperature:: Oxygen:

- Gas at room temperature
UTSIFLD : Alewm OauiLBemeoullsd Hreud :: Sy&Sggein :
- Slanm Gauliuheneonicd aimuy
Non metal conducting electricity: .
Metal conducting electricity: Copper

- Graphite
WeTETISmeSS &LHFHID AGeomHD
Ll6TEFNIS6mS5S HLHSHID 2 Ceonsid : SSTLD
— $grenuLe
Elements: combine to form

compounds::Compounds:

- Combine to form mixture

SeoflomigeT : Gewemibgl CHIDMISEMET 2_[HeUTSSS6T DS
i GHITLDIRIGSIT : -

— @ATHHI HOVOHAUBGET L ([HAUNDGHEDHI

Atoms: fundamental particle of an element::

__ :fundamental particles of a compound.

- Molecules

55.

56.

57.

58.

59.

60.

61.

62.

63.

SIEW)|5:861T : HfllDSHET JiQLILIEDL FISET ::

Gsmpmusefletr SgliLiewLS Sis6T

- WPooS B NIBGT
The basic unit of matteris
- Atom
u@LIO LN Berfledr DHQUILenL Do DhSID.
- Slowsl
K: Potassium: C: L
- carbon
K: ewmmdlwb : C: _
— BTG

The liquid metal used in thermometers is
- Mercury
aauliLBeneoonesiiseafled LWGTLGSSLILGLD ey 2 Geonsid
- unpgFd
Which one of the element name not derived
from planet?

- Mercury

ab5s seflbgdent LW Gamesafler L6l ®BaI

euMLILIL 6f6deme0?
- unpgFd
Symbol of Mercury is
-Hg
unsgssde PG
- Hg

A form of non-metal which has high ductility is

-carbon

sIwrs BEbd Setenoenwl OLIHDIETET HEeOTHLD 6157

— BITLGT

The property which allows metals to be ham-
mered into their sheets is _

- malleability

2 _Geonsmi&emer Jaunnlenr 55E&H6MTS DIHM 2 56D

LIetoTL| 6185]?
— p5LIH chifiyd uetbry

The non-metal which conduct current is

- carbon
6TTFNISEMSS HLSGID HBeoMasLD
— BITLGT
Pencil lead contains
- graphite

siaGanedett EWeiTdledletn) bBSS6vomee0 BLILISI

— $gn..couLe
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64.

65.

66.

67.

68.

69.

70.

71.

72.

The element which possess character of both
metals and non metals are called

- Metalloids

2 Geonsmsefledl LI SHMETWD  AHBeomasmiserfleir
LISTTL|S606MLLD SLID 6T Sevfiomiger _ etenr
SNMPSHSLILIGS ST 6UTIT.
— 2 8omBEUTESsHGIT
The symbol of Tungsten _
-W
LreoLevflett GmMui®
-W
Melting point of most metal is than
non-metal.
- higher

Qu@bUNeTenWne 2 Geonsmaefer 2 (hGBened

SiBeonsmisafet 25 Bemevsmutsfi

- DiSmId

Water contains and element.

- Hydrogen + Oxygen
Briled 2_siterm Gevfiorse LoHmILD
- OADLFRAT + Db HFRAT

is the used in semiconductor indus-

try.
- Silicon
_ &oDnsasLSS Osmedled LwieTLGSmE).
— FobbamaT
______metal undergoes rusting.
- iron
___ 2 Geonsb sIBLINYSS0I5E 2 eTammdms.
- @uiby
Limestone contains __ mainly.
- Calcium carbonate
& 6U0T 6UOTITLDL| 8860 @B PSS S

e\ meTTBeTeng).
— BIFIUD HTTUCGTL

Iron objects undergo rusting when exposed to
and

- Oxygen and water

B mLbureomesr \LMB6TEET

2 _geflujLesr SIBLILNeSHSesTm6uT.

- SbbFgdr wHmID HiF
Which is known as azote?
- Nitrogen
SNBEML erevtLILIBeUS) 6157
— GOIBLTRGT

73.

74.

75.

76.

77.

78.

79.

80.

81.

is called as vital life.

- Oxygen
. osduredlwwbner 2 ulil eerlILGEDE.
- DpbadRAT
Nitrogenis _ ___thanair.
- Lighter
6WIBLIER65T SMTHEHM 6L
— GONFTATHI
_ is used as a fertilizer.
- Nitrogen
- __ 2 monsl LuesTL@SmE).
- GBLTRGET

The process of conversion of iron into hydrated
form of oxides is called _

- Rusting
8mbenu BECIMw DL Sp&HenFLTs MHNID Bapey
6eT6uTLILI(BLD.
- BIBliY550
In water, hydrogen and oxygen are combined in
theratioof by mass.
-1:8
Brfled, emanL’ F2268T LDMHMILD Db 8:Fe6T SbBwiemey
Bewm eflfgs560 SemevvrbgieTernest.

- 1:8
An element is composed of at-
oms.
- same
R SevfloLbreg) _____ wndrflune Sigm)ssenTed
2 (HeUN&sLILILLE)
—- 3y
Chemical formula of calcium oxideis ___
-CaO
SMeodILID Sp&emenLigedt Geud) eumuILm® -
- Ca0o

When we mix a drop of ink in water we get a

- Homogeneous Mixture

2 glofl enwulenen B Hiled H0sGLEUNG HLO&ESS
SewLLUILIG)

- QBUURSHTRT HEVGHQI

. _____has the same properties through-
out the sample

- Pure substance
wndfl wppeugild QBT LI6TTL|HmeTs: 61&TesTB6Tens)

- BIMUAUTHGT
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82.

83.

84.

85.

86.

87.

88.

89.

90.

A _____mixture has no distinguishable

boundary between its components.
- Homogeneous
_________ sHeoemeuuiledt GewWL|L I HETHEDHSS

GanILBIHBEHFalRU TOMSEECHTE Be0men

- Qwiiugspmar
An example of a substance that sublimesis
- Camphor
USMBISLNGLD OILMBEDSHS TBSEIS TG
- Biwyid
The valency of Argonis
- Zero
Spiisnesflesr GewevorHmedt _
- wégiub
Elements in the modern periodic table are ar-
rangedin _ groupsand ___ periods.
-18,7
Belienr G6vflo i Leuewerrulesr sesflorssT _ Os1&S
___ aiflwssemns SiBsSLULLGETETS).
- 18,7
Example for liquid metal is _
- Mercury
Srau 2_GeonssHhS aBSHSSTLG -
— unpgFb
Number of valence electrons in carbon is
-4

SIITLIEH lemiefled 2 _6iTerm GenetTHMEDT eT60s1 TM6dT-g6rledr
6T 6u0T 6001l & 600 &

-4
Sodium having atomic number 11, ready to

electron/electrons to attain the near-
est Noble gas electronic configuration.

- lose one

BEMQUISBHET SIeT)| 6T6T0T 11. DG} ............ EIBIHEHSHLDIET DS
eurmuefletT [BemeolITenT 6Te0&LTMEN SHeMLDLIEHLILI QILIMISMESI.

- QW cTeobLgTanGT @LpihH
The element that would form anion by gaining
electrons in a chemical reaction is

- Fluorine

Gaudellemeniseriled erevsL TMetTHEmeT eIDMI ST SHwlevflins
LDTM&IalQUl S6vfloLD

— Y@BIfeT

1 mole of any substance contains _
ecules.

_ mol-

91.

92.

93.

94.

95.

96.

-6.023 x10%
1 GLDIT6D 6THS @H EWIMHEBLD _ (LPEOSHIaMIBHED6TS:
E\STETTIQHSHGSLD
-6.023x10%
Elements with stable electronic configurations
have eight electrons in their valence shell. They
are
- Noble gases
Oaaflganligep LB TEOSBLITETSEBLEN Benevss
6T60&L_ 60T SHEMLDLIEHLILI EIIDM SEVIDMBIGSIT ...
- iHP ATYSHGT
The process of coating the surface of metal with
a thin layer of zincis called
- galvanization
61D6DE0ILI LIL6VLDNTS §ISSENS Ligewey, LIn 2 Geons:g s et
55 ahL@SSHID Bapey _  etevnLGLD.
= BIBWOND LhFHN
_______is an important metal to form amalgam.
- Hg
BrEssE0mal 2 [Heaunssele0 CHenaulILBLD LpsHSWLDTe
2_Geonsid | \
-Hg
Carbon forms two oxides, namely carbon mon-
oxide and carbon dioxide. The equivalent mass
of which element remains constant?
- oxygen
SMIL6S, &Miue Grerm&enev@ LHMILD  &iTL6d
D  QDUGIE  DpSHMeBEEH D6
2_BaUn&&SEl. 6bS S6vlngSetT FLDLDTET [Bemm LDMDITLDED

ML WIMS6emen (B

2 siteng)?
- ShBHaS@AT
The equivalent mass of a trivalent metal element
is 9g.eq?! the molar mass of its anhydrous oxide
is
-102g
SIS DetT cpeiim C\HMeTTL 2_Beonss Sevhing Sesr
swworer Beom 9 g.eq’ Sigsir BroHp S Senevigeit
epesaam) Bewn
-102¢g
What would be the IUPAC name for an element
with atomic number 2227?=
- bibibium
Sigw) eretor 222 & Qe sevliwgdeir |UPAC euwii
ET60TEOTEUTS B (BSHGSLD?

- bibibium
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97.

98.

99.

100.

101.

102.

103.

104.

Which pairs of elements exhibit diagonal rela-
tionship?

-Be and Al
Seofllp Cmes@bhsiT epemed sl L Q\HMLITNlement &M Beug)
618

- Be wigib Al
Sodium is stored in
- kerosene
Gameuid erded GFLAGHILGESI?
—  IDGUOT G\ GYoT GUaT G\ GUUT K

Lithium shows diagonal relationship with
- magnesium
60SSWID eISHENIL 6T cLpemevefiL Q\SMLITL| 2_6DLILISI?
- Qs afFiub
Which is the correct sequence of solubility of
carbonates of alkaline earth metals ?
- MgCO, > CaCO, > SrCO, > BaCO,

sny  wewr 2 _Geonsmsefledr, &mTUGeTL B 6rf6oT
semgdmeiaer sflnes euflens
- MgCO, > CaCO, > SrCO, > BaCO,
The suspension of slaked lime in water is known
as
- milk of lime
Brileo UL BHmIs setrermibLI6 C\SMThISHED HEDTEFED 6165
SINWLILGSDEI?
— FHGRTGRTTIDY LITCO
The name 'Blue John' is given to which
compounds ?

- CaF,
Geiomaseied eshe 'Blue John' eeyb eww
QUPMRISLILIC B6iTerng)?
- CaF,
Formula of Gypsum is
- CasO,.2H,0
Llgsdett eumiLr®
- Cas0,.2H,0

When CaC, is heated in atmospheric nitrogen in
an electric furnace the compound formed is

- CaNCN

CaC, = aeflbamLe mpLIna@Le Csiss, W6
2_smeoufled QeulILLl LGSGIDEUNE SemLs@D G&TLD

- CaNCN

105.

106.

107.

108.

109.

110.

111.

112.

Which metals has the largest abundance in the
earth’s crust?

- Aluminium
el Geo@&&sd s Slerefled smemriOLMIDd 2 Geomsid
618|7?

- Sloyibafiub
In diborane, the number of electrons that ac-
counts for banana bonds is
-two
oL GuNGrenfled, auemenBs LI NewevorLifled (eumempLiLp
NemewrLiL) FEULB6TeT eTeo&L TretTserletr erevurevofls:ens
- @gaTe
The element that does not show catenation
among the following p-block elements is
- Lead
p-6sred seflomaefle, oFmdedld OFTLITSESD
uetoTLAemesTLl OLIHM(HSHSBTSH SHevfloLd 6187
= pifub
Duralumin is an alloy of
- Al,Cu,Mn,Mg
leupTTeyLflesT eTetTLIZ LN6STEIIHLID 6TThS 2 Beomsmigerflesr
2_GB60IT& 860 6M6)
- Al,Cu,Mn,Mg
An element belongs to group 15 and 3™ period

of the periodic table, its electronic configura-
tion would be

- 1s22522p€3s?3p3
sefin auflens S Leuememruied, 151 QTGS 3-1b
auflengulieo 2 eftem @@ HevllloGH6tT ETe0SLIME HeWLDLIL|

- 1s%25?2p63s23p3

Which compounds is not formed?

- NeF,
@zraserfleo 2 @heuns eumilifleoeons GEDLD 618)?
- NeF,
Which compound is colorless?
-Tiv
e1560IemLIL G [BOHDEI?
-Tiv
Copper containing zinc alloy ?
- Brass

sI55BETEsmes (Zinc) asnau@erten smusps e
(Copper) 2_Geonasseemeu

- i5pamer
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Periodic Classification of Elements

d - block elements are called as
- Transition metals
d - asnEed seflorisdr Saann oWssILGEDS.
- @oLhanend Saforiser

Who proposed law of octaves while arranging

the elements in the periodic table?
- New Land

sefli euflews i Leuememwruiied seuflbraiger euflemaLi-

LU@BSGID Gug) erevord eflfemil (peSTELDMAMBSOUT WIMT?
— 1huy comaorie

Which of the following is most abundant in

earth’s crust?

- Si.Silicon
a8 Lefluiled SHPsions SenLsBng)?

~ Si.#oSmmcsr

Select the correct statement with respect to d-

block elements
- All above statement are correct
051&S FefibmiseneTLl OLITMISS Flimen FabmenTenis
(€ E13E1G)
- s Sardaid Fiunaana
Which element is toxic among Boron family?

- Tl - Thallium

Gunpmelt GGBLUSSHD 61g ISQD [HESHSSETELD

2_ewLWgH?
=TI - pmebud

The distance between the molecules is

CLPEE S M| HETHSBEML BUILITET E1STENE06)]

-10A

10.

11.

The element which is an essential constituent

of all organic compounds belongs to

group.

- 14% group

DS H6 &fDFCFTIDMSEHSSD HIQLILIEHL LI
seoflbd _ esn@duied 2 efterg.

- 14— 9haugl O5mMGSHuicd

New elements and rare - earths are discovered

and fixed in the periodic table using
- Moseley’s law

usls seflibmsst wHMID AHfw Yels seoflibmiser
serLBlWliLLeD, geoflo  euflews i Leuememoruied

OUNBSSL! LLeYD LesTLB UG
— ewnFoSUicT i

The compounds formed when hydrogen com-

bines with p-block elements are called
- Molecular hydrides

MEDLTRE P - OSMTGSS SevllLDIHISHEHL 6T SEnewIHS! SHIHLD

Gaimmiseflesr wwim
- WYNBBN ADLEGOTLEGO

__stated that the properties of elements

are a periodic function of atomic numbers.
- Mosley

Sevfiomiserfledr Listor |6l IDHMID OFWISOLITH SHS6T e

STEUUTEmEMIL! OILIMMISS BHHGSLD 616518 Famlwieult
— emaosey

How many electrons can be accommodated in

d-orbital?
-10
d- Sy Ledletr \E6ieeey ETSSHENET GTEOSLTMETSHET?

- 10
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Atoms and Molecules

Electron was discovered by

STEOSLITENEST HETBLNQSSEUIT ............. Speuit.

-J.J.Thomson g

— 0g2.0g3s BHMDFGT 9.

The charge of an atom is - neutral
SNem)Iefl6tT LOGTTETL L IDITEDIG -......... SHSLD

— bar@rmELHHHI
What are isotones?

- Atoms have same number of neutrons but
different number of protons

2CFTELTEOTSHET 6T60TLIENT WIT6m6U?

- 355 HUHLTNGT GTGHT Wl HEOBWID MDILLEL YGIFITLLITCET
cIavTamfBansnb 2L DGEEIbBGT

What is the value of the Bohr radius of the elec-

tron in the ground state of Hydrogen?

SEOILL ewamLreer gy efleyeter eaeosLnmeflesr Gumt

ObUSE6T LDSLIL| eTedTeDT? -0.53A

A molecular orbital can accomodate only two

electrons and these two electrons must have op-
posite spins. This principle is known as

- Pauli’s exclusion principle

R pSFM DM LTe06d STettT(B 6T60EL T IT6H &M

wL@EWD Briu Sueyd. SiHG BTG 616081 TT6H &EhLD
aSard spHIam 2 emLwenel, 555860

— umoSHiGT palithans BoHIID

Which rule is used for the order of filling of orbit-

als? - (n+1) rule
aeusld Oy Lmedsemer  BIUYD — SEMMDSHS
LWSTLESSILGEDSI? - (n+1) &ig

According to Modern Atomic Theory which of the
following statement is wrong?

- Atoms are indivisible

Belien SemisasMaTmSmWL OLTNISSEunT L6dTeuHLD

e16EDM)] HEUDTEOTH|? — SERIHBGT aTHS @UOSTHMAI

10.

11.

12.

13.

14.

15.

16.

17.

The hybridisation in IF, molecule is
IF, epevdssaniied 2 _eitem GevréaeoLit - spid®
Which Hybridisation is present in PCl, molecule?
Gewgaeoti] PCl, epeossatied 2 eeng) -spd
Inter molecular hydrogen bonding is present in

- Water
PV &HFAM) BHEHHSHBEWLLILILL DD TZR6IT LN6memTLIenLILI
- B
In sommerfield atom model which one of the fol-
lowing atomic orbit is an elliptical orbit.

ewpmieTeT GETLDLD

gnomien@ Sigmiordfuled Spaer genem soGaered

e1360T Limena (et sulL euigefled S(h&@SLD. -2s
The intramolecular hydrogen bonding is present
in - Salicylic acid
epevEFaIeIsT [BH(DLD AL TeR6T LenemTLienLIs: 61&TetorL
G&iTLb — Fme6Fc65 Diibooid

The shape of PCl, is - Trigonal bipyramidal

PCI.- — whesmewT GupATby

- Dumb - bell

60T 6UIQEULD WIME)?
What is the shape of p-orbitals?
P-SpMaLmeogserflett euigeud? — Libucd cugaud
Pauli’s exclusion principle states that in an atom.

- no two electrons can have all the quantum
numbers same

6eed) SefliTliL] HSGIeUD eT6iTLIS PIT Sigmmefed

— QU CTORSLTTATHATAT AORTHHI (& QUMCTITL
i safar vy FETrs SuHHHNHI
Which of the following weights the most?
- One mole of sodium
SDSTETTLIUDMIET 618 HEUILDTEUF?  — P ST SFmiguId

What are deuterium and tritium?

- isotopes of hydrogen
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ESH’|

ACADEMY
teuptterfluiid, tprfliguild eTedTLIEM6Y 6T6dTEDT?

- aIyRaT @eFTeLmiys6T

SiBLonesflwimeled 2 eitem ewmpLTezeulletr FaLlemevoriiL| eTevor

-3

18. What is the covalency of nitrogen in ammonia  19. The radius of an atomis _

molecule?

b Jleyeilett oD Sletey - 10m/$

Oxidation and Reduction

The oxidation number of Chromium (Cr) in | 10. Oxidation number of Mn in KMnO, is

NaZCrZO7 is

Na,Cr,0_-60 @Gomswgdeir (Cr) SpserdlezCeuim eregor
=46

The oxidation state of carbon atom in C.0, mol-

ecule is

C,0, et6ttn ewpeossaniled smiLer Siemyefleir SpszaGembn

+4

616001 —3

Oxidation number of sulphur in sulphuric acid is
&bS5SH 0SS0 SbSH5H6 SheARCebD aetor = +6

Which one of the following is a powerful reduc-
ing agent?
Anbs SOSSSTI6? =H,PO,
What is the oxidation state of hydrogen in LiAIH,?
LiAIH 6b 2_eiter enaum1 rezeufieir SpélesGennibm etetor eretrent?
=-1
An oxidising agent is a - An electron acceptor
D 561012GETMT 6T6TLIGI  — CTONBLINGOGT GTHMIBHABTGITGIBID

Which of the following statements will be most
suitable for KMnO,

- It is a powerful oxidising agent
SpsseuL  aunsBwnisefeo

OLIMIHSSLDNETIS)| 617

KMnO, && uwisl

— g G QIS IITAT ShHaSRERTHN HMYcses

Nitrous acid, oxalic acid and acidified solution of

FeSO, are examples for - Reducing agents

BLIV Siflevd, Sp&sTedls Jsleod whmb FeSO,

Sibl6vs HHIFEO SpBUIEHEN THDES FTETTMIHET?
- FbsBHAT
What happens in the reduction process?
- gain of electrons
RB&H6 clemenuied SpsaerTLeuDfled eretTent BHDANEI?

— GTooBLgNATHGT GYHY

11.

12.

13.

14.

15.

16.

KMn O, -6oMn-6ir 8:le2Geumibm eretor etesTLg) -7
What happens in oxidation reaction?
- loss of electrons
Sser0lzBenm eflenestuiled ersttent BaDADSI?
- cToobLgnaTaatar Suiy

The oxidation state of an element in the free and
uncombined state is

sefles hIb Gauml T5eDILenID GEImibed Brh&HE&D GLNg)
sevfingdett SpsARCeunhm eretor __ Sy, -0

When steam is passed over red hot iron, the prod-
ucts formed are

Brrefledw \Feh&CLODLILLL Sl g \FaSFID

GUNg| 2 [HEUTGLD CHlEHETELINHLESET -Fe,O,&H,

During the oxidation of acidified ferrous ammo-
nium sulphate with dichromate solution

- The oxidation number of chromium and iron
changes from +6 to +3 and +2 to +3 respectively

SileOLd &H60rbG W6 SHBMevfld FeoBUL ewL&GBTTGELL
SEnIFE0l6D Dp&erOlz6tT eIDHILD SHMLILD OILIMDS)

- SbHaS@R AT 6IHN cTavr GEymMbLSSHS +6 SuBHH +3
Shasajb, @BbIHEG +2 SBHs +3 Shaajb LINSHHI.

Ar-COOH —=% ArCH,OH

What is the type of above reaction? - Reduction

Ar-COOH —“%_, ArCH OH

GH&EWIL 6NeNETTITETS) 61HS CUMS; cHleneTTEn SFMTHSSI?
- SbbasgeaTHmid

In the increasing order of oxidation state of

sulphur so3,s,07,s,0F

ool Slemiefleit SpshedlegBerbm eretor SHigliLiewL ufled

gnieuflensuiied eqpgs. SO, S,0%,S,02

3 75274 772%6

=$,0% <SO% <S,0%
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17.

18.

Equation of oxidation of glucose.

GEH&CHMEN Sp&HellzmnGaTdmD FIDETUMLIQEDE LhTHS

&S,

CH,0, + 60, —

= 6CO, + 6H,0 + Kcal

The total amount of energy released from one
Inorganic

Oxygen molecule is 16 times as heavy as a hydro-
gen molecule. The temperature of oxygen when
its average speed is equal to that of hydrogen at
30K is

Op&He0IR 6T PG FAM RIH EDEUDLTEREI CLP6VE Fa M 6Del
Gumeo 16 wLMG sewwnerg. 30Kk QeauliLBepeoulied
e reaflst srnefl Caissms Cunetn Gassams LM
SpsedlRensd eeusuene] OeuliLBened GeustorBLD.

- 480k /amcschicr

Sodium Chloride is an example of _ crystal
- lonic

Gameuib GGeTmewIL LoD _ L& 58 66t
TBSSHIHHTB - Slwef Sanawriiy

The increasing order of lattice energy of the fol-

lowing : NaF, NaCl, NaBr, Nal is
Sphwed SiFsMEGD
euflenswnesigy NaF, NaCl, NaBr, Nal

- Nal < NaBr < NaCl < NaF

NetTau(peusTeudmIeT LIRS

The hardest naturally occurring substance is
- Diamond
BwhensulGeoG L& SHIEEITLDNS HeNLEGLD LITIHET 6187
- amaugib

Bonding present between the atoms in graphite
is - Covalent

SITEHLIL Q6D SHTTLIGH SHE&HSET QETEHITELMETN)| eTeueNTM)

LNenetorsSLILIL B6ITernesr? - salifienewriiy

19.

molecule of glucose on oxidation is about

XD eV & & M) &EHSBSHMe
S &ARCeTHm et BNy QeuaflliLGSHID Spbhmedledr

Slertey =2900 kJ

P em LD ulmest

SO, actsas - both reducing and oxidizing agent

SO, ersirLg - BFRGT IHH — FbAHGD Hnyewt

Chemistry

6.

8.

10.

11.

The compound which have back bonding are
- Metal carbonyls
N6TCetTTEG LIemEtuTLIEnL 2 _60TLT&@&D G ITLDMmISET
— 26005 HMITLGHATCOBGIT
The geometry of the complex ion [Fe(ON)]* is
- Octahedral
[Fe(CN),]* ersirm Siememiey Siwesflufiesr Sewioiin
— cTGUT B
The geometry of Ni(CO), is - Tetrahedral
Ni(CO), eir euigsueminiiy - prdIYS
An example of a complex compound having co-
ordination number 4

SlemeTTeY 6T6T0T [BTEIIGS &ML GEFTDSSDEMET SFMedm)
- [Cu(NH,),]ICl,

Which of the following statement is correct with
respect to Central metal atom?

- Accepts the pair of electron

el & Beonas Jiwievll QUi ienLuled Sp&6wIL 6T Fabm

&ifl?
— @GOGWT GTOOBLTIGHAT GYHGLd
Pick the complex used as anti-tumour drug
- cis-[Pt(NH,),CL ]

Gsemauuieoeon GMIHLRSBEDHS TSN WDGBHSTSH 6HS

Slewewey GarbD LWETLGSDS) — #ao-[Pt(NH,),CL]

Acids, Bases and Salts

A weak base has
weak acid has a

.............. conjugate acid and a
conjugate base.

- Strong, strong

............ BT SHBOSHMSWILD RH
BewEwT  HNIGHMSW|LD

— QUYIQINGT, QIIUTGT

R QUYSUDD SHTTLD
ayamn AHuseod
OWDHM(HSHSLD.

2.

Thermal Pollution in water resource mainly

reduce the concentration of - Dissolved oxygen

QWuLILl LDMELIMLIQES SMI6EmIDNS [HiT [Bemevaseriled ereummlest

aFley IHBs Aaeflsd GeHMUILD?

- DO (sangihs opbadgdr)
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10.

11.

12.

RESH’|

ACADEMY

The main ingredient of antacid which is used to
relieve acidity of stomach is - Base

aulpmMed 2 MG s HeiTewd HB&IMSHGWD
2 LnewsemW HEs LWeTLGD Sl wHleyt e berilesr

WPSHSW eLPEOLIEWIMB6IT —————— OpSLD - snyb

Which aqueous solutions will have highest pH
value?

1Biios semnsesefsd s pH w2 enLwg - Na,CO,
Buffer solutions are used to
- Maintain the pH value
SITRIBHED HEOIFEO 6ISMHSNS LILTLGSMS?
—~ pH psiicou prpmvcd awaidbsmbs

Magnesium Hydroxide is used as a medicine for
curing - Stomach disorder

Owseffwd mapLImsmen® amss &eurliu@SHSID
LD(BBSTS LWIeTLIGBMmE? - auidm LUTE®5HaHHE

The salt formed by the combination of the mix-
ture of solutions of two simple salts and which
loss identity of the salts from which it is formed.

- Complex salt

8w eaaflu 2l GEsmrsosmer sohE SBMLSSGLD
2 liuneng)l, ardedlBb&l 2 hHaur&SLILIL LGS, JleuejliL|serfler

Seoflgseienbenw S&Sng). S&iG6 - Slanewray 2-iiy

The common table saltis - Compound
61wng) Goens 2 LILnens) L)

Calculate the pH of a 5 x 102 solution of barium
hydroxide Ba (OH), solution at 25°C

(Iogf0 =0.6990) (Ba(OH), is completely ionized)
25°C eaiuBewer 5 x 1073 asmeyster Guwib
manrréemen® Ba (OH,) sevpseler iy eeien?

(log?, =0.6990) (Ba (OH), wimieyi> Sweshumdsins;)

-12
Si0, is - an acidic oxide
SiO2 eTEaTLIG) — Q Slibos ShbaF®H
Which acid is not kept in glass bottles?
6b% B0 ema Sttty &Bewauuled meusHS LPIQUINEI?
- HF
Is a basic salt?

SMISSETENLD UMiIEgS 2 L1L? -2PbCO,.Pb(OH),

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

The pH of 0.1M NaOH is
0.1M NaOH -eir pH iy -13
Common salt is made up of

- Strong acid and strong base
_ Suen® Sewemihag FNSTIen 2 L] Sp&LD

— qucbamip 16 Siiboud + ucéamip 16 By

What is the normal pH of human blood?

weofls BréssHe S| wWigI? -7.4
What is the pH value of 0.0001 M HCI?
0.0001 M a\eniley eametor HC 66t odi ergy? -4
Base according to Usanovich concept?
upFGeurefls E\&MeTemSHUNCITLIIQ SHTTLDTGSLD - NaZO

What will happen when hydrazine solution is
added to copper Il sulphate solution?

- A copper mirror is produced and the blue
colour fades

STULIT F60GLIL HEDIFEYIL 65T DAUDLTF6T HEnIFMe0 CEFTSHSLD
Gumg GaMeiMILD MDD WIME)?

= BT 9bly SHIATPBILAT Hov HHd wribd
Which of the following is an acidic salt?
LBl608;&65TEmLD EUMIGS 2 L1Ly? -NaHSsO,
The higher fatty acid in oil is - Palmitic acid
eTevuT6\etuTudled 2 6iTem 2 wit S\SMIPLIL| SHislevld

— umcdibyd Slibovid

The acidity of CH,, NH,, H,O0 and HF molecules
should be in the order.

CH,, NH,, H,O wpmib HF Sp8w epeossamisefiesr

Sleogglen eurflens -CH,<NH,<H,O<HF
Lewis base
aarrufleiv &b -NH_, H,0, BaCl,

Non-volatile covalent nitride, AIN undergoes hy-
drolysis to give

- Ammonia and aluminium hydroxide

erelide0 Aewnans sslifenswrliy enprengLmes AIN.
BImHUGLIY SHewLbg 6\STELILG

- slbewrafiur wHmd Sleyibafiud maniEgrbamaon
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24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

Lewis acid
aarmudleiv SiLdleoLd - BF,, AICI, BeCl,
The isoelectric point of an amino acid is the

- pH at which no net migration occurs during
electrophoresis

SHOBeoTT SiLflev5He0 2_6iten RB& eTevsL S Lisierfl

- barwenars saitsFuiar surs PH-& a1hs maiaubd

IHupUEH B
The compound which is called ‘Common salt’ is
eILINgleuns 2 Ll eT6iMemLp&SLILIBLD GFIDLD 61&)?
- Nadcl

The chemical name of ‘Vinegar’ which is used as
preservative is - Aceticacid

2 _ewTaill OLMGLESEDET SLTDE LTFSTHGSD efeflamit
eTeoTLIS 60T GouSLIOWIUIT 6T60TEDT? - 92y Slibooid
As per Bronsted concept, acid is
- donating a proton
ApesteioLL” eMNBufedrLiig, HBleoLD eT6dTLI
- Q@ USTMLELIGOGT QUPRIGHNHHI

Arrange the salt dissolved in the sea water in de-
scending order:

- Chloride, Sodium, Sulphate, Magnesium

asLed [hiled HemumaeTeT 2 LiysHemeT @Dk euflengulled
auflensLIBS 515

— BeOTIGOY(bs SFMgMID, FOOSULL, Q&GS FiLD
The pH of a fertile soil is usually around
eerLb opmiLb efiflwiorest wesorewflssr PH =-6-7
Glass is affected by which acid?
-HF

SHEVUTETOTITIQ ETHEBTTED LITSSSILBBMS?

A solution whose pH value is 4. Then the solution
turns - Blue litmus into red

® smrgedlest PH wdiy 4 eeflsd Sgamemreed
- 1w cbLewanav Faily Hywrbeid
Which salt is used in Test Tube funnel experiment?
- Sodium bi Carbonate
OHUIYSHSLPED LieoTed Dhulefled LILeTLESSILGLD 2 L

— esmyid cou HIITLCGTL

34,

35.

36.

37.

38.

39.

40.

41.

42.

43,

The correct order of acid strength of HCIO,, HBr,
HF and H,PO, is

HCIO,, HBr, HF wpmib H,PO, Sydwepmieir Sisleo

euedlemipullest sflwmest eurflemes

= HCIO, > HF > HBr > H,PO,

NH; ion is - A conjugate acid
NH; Siwesfl - 3® @amamr libooid
In the order of acidity of oxyacids:

Syl Seomsemer Slaubnler Siblens HesTewID
SleliLienLulled euflene ILBSSISH

- HCIO, > HCIO, > HCIO, > HCIO

The pH scale runs fromapHof _ topH of
pH SeneliGereiiugy_ pHedmma_ pH euenr
Sb&1D -0,14

No indicator is suitable for the titration of
- Weak acid vs Weak base
6bS BOMRISMLIQUID LILIENTILTS SILDLIMTSS560
— aucbanw Gan Slbovid VS aicbanw Gann Hmyd
The acid with the formula, H,N,O, is known as
- hyponitrous acid

H,N, O, etébrm eumiiLim emL 2 6w SiH6vLD SHempSSILEBLD

Qi - ananlicurenpLyeo Slibood

The pH of a soft drink is 3 and that of milk is 7.
How many times greater is the concentration of
H,O"in soft drink than in milk? -10,000 times

e Gefiunengder PH wadiiy 3 whmib uredesr pH wdiiy
7 aiesfled @efiiunemgged H,0* Swell aemiley Lmenevefi

615,566 LDLIEIG HPHSHLDNS SHHSLD? — 10,000 wWLPAG
Auto ionisation of H,O leads to the formation of

Fetutewlit Sevins Hewse| SHewLW|D GUTE SenLLiLg)

-H,0" & OH-
The conjugate base of NH,*is
NH," ersirLigsir @ewemnr b -NH,
The Conjugate base of [Fe(H,0) ] is
[Fe(H,0),]” @ewewr smmid - [Fe(H,0),0H]*
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44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

ACAD

RESH’|

EMY

The acid strength of halogen acids is one of the
following order

apreReafmL  SSleomaaflesr SS0s SeiTenLDewwl

SipaetorLeunn) euflena LGS Se0mLd
- HI > HBr > HCI > HF

The pH of a solution in which 10.0mL of 0.1M
NaOH is added to 25.0 mL of 0.1 M HCl is

10.0mL 0.1M NaOH 2_Leir 25.0 mL 0.1 M HCl seorss
= 1.368

senggedlsst PH oLy eretresr?

The acidity of the rain water is measured by the
scale

wenwp Hifledr IHE0SFH6EMEMIDEDW 6T SLILIW 65TL BLD

=pH

SlaTemel

The concept which states that “An acid is a sub-
stance which can accept electrons”

- Lewis concept

@M 6oL eTTILIBEUT| ETOOSLITEIHENET TDS Faloll Qb

GSLDLD 616018 SamIeug)| - oyuicio AsmGiTamS
Which is called “Aqua tortis”?
SDIS6UI LITITIQEN 6T6TMEmLPSSLILIBOUS) 61817 -HNO,

The concentration of hydroxide ion in a basic so-
lution having the pH value 4 is

pH wdliy 4 2 66T QB &MI& HEnIFOl6 MRDLITHMEFD
Slwerll Oemley =1 x 10M

2KOH + H,SO, — K,SO, + 2H,0
The equivalent mass of the salt, K,SO, is
- Half of its Molar mass

2KOH +H,S0O, — K,SO, +2H,0
K,SO, 2 \196ir siomesr Bewm

— BIpdAT SwTEOMIT HEOMHTCS ums
According to Lux-Flood concept, a base is a/an
- Oxide ion donor

60&610-LIeNTL E\&MeTensulledT Lilg @F SMILD 6l6iTLIg)

— Bbhanan GT apris

Gold will dissolve only in - Aquaregia
GHTEOL. (BRIBLD) ............ 60 LDI"(BLD SH6WFTULD.

- @Ure Symausb

Which is the strongest acid in the world?
- Fluoro sulphuric acid
2 605558608 W LS5 cuedlemLDU6ITET SiLT6OLD 618)?

— yearmegm sHss Slibooid

54,

55.

56.

57.

58.

59.

60

61

62

63.

64

The term basicity means

- Number of replaceable hydrogen atoms in one
molecule of an acid
SMISFHOUD eT6oTn LIGGHH6IT MBS

- WPobHM DboeSHN 2 dirar @LUAUWITSF
asdiubsgu ADLETRET NaREIHBGTET cTar wfbans
A base is a substance which gives OH™-ions in wa-
ter - Arrhenius concept
sMO  eehTug Sevewtfeo sewgwb ewumwg OH-
SlwlevllemiLis; HbLd - siirSasficio pSmiqub

Which is strong acid and strong base reaction?

efiflw GBS Sisleod HmID efiflw WIGHS ST eflenesenw
CaIb &I 61BSHLD - HCl + NaOH

The aqueous solution of potassium chloride is
- a strong electrolyte

Biiled semrss LM LTAWD GCemenI® HenIsed e6irLig
— auobamw bBHH baruGat

An acid is a substance that can lose a proton is
called - Bronsted-Lowry concept
Slfleod eredTLg LGIMLLTETSemeT BPSGSLD SH6iTemd
C\GETETOTL G| — QynaraoLh— cvalf B551011b

Among the following salts, which is a salt of weak
acid and strong base

2 (saafled e7g euedlend GOMHS HLOEOD ELPELPLD

6u60l6mLD LBIG[HES SMILD eLPEOUPLD 2 (HEUTEETE? - NaCN
The strongest acid

efifLs@bHs Sisleod -HCOOH
Ammonia burnt with O, liberate which of the fol-

lowing ions/radicals?

NbGLresiiwim S derdigzeniled erfluybGLIMG) SLpsamevorL Siuwiesfl/
-N,+H,0
- Acidic

@abib-g2 AeuefiILGSSIS ).
Drinking soda is
Ge&mLmumeutLd - BlbooSHATMID 2_GOLIBI
Tincture of iodine is
- lodine and potassium iodide
IQEHEFIT SpLI HBWIMIQEST 6T6ITLIS
— SICUMYGIILGT QuILELTFub SumanL®b

3 : 1 ratio of concentrated acids of _ is used
for cleaning and refining gold

3 : 1 eretip NBHTESTTSH60 2_6iTom SHLIT AL 6OMEIS6IT
SHEHMG GHHD OFLIWeD, &HHsfEse0D
-HCI& HNO,

LweTLGSEDE.

ﬂ BIbEIGE - 99445 11344 | SmameEaed - 98942 41422 | @mopngyntd - 75503 52916 | wgiemy - 98431 10566 | Gasimemem - 97555 52003 | amemau - 90433 10773



Chemical Equilibrium & Kinetics

In the Haber’s process for the manufacture of
ammonia

- Finely divided iron is used as a catalyst
Gamurm eFwedwsnpuiled, SbGmesfiwm swinfgsedled
- Ml uscTHeTTSHlULL @hiby dicnatupb s
UHIGTUGE DB
Maximum Yield of Ammonia in Haber’s Process
Gamuit wpenpuled SibGwresflumr sTwfssedlsd s UL
-37%
Why steam is passed to remove away the ammo-
nia in Haber’s process

efenernsaed

- Maximum ammonia formation
Gamui wpemmuled 2 meuret SHbGLTellimene Haa Hrmefl
SIQIILLILIGEUSEIT GBT&HESLD
- Si$suLs Slbeprafiur & Harbs
In the reversible reaction
250, _+ O, . — 2SO

2(g) 2(g) 3(g)

Find the relation between Kp and K,
250, Oy — 250,
&&LD Kc &SGLD 2 6T Q\SMLITL

61601 FLoBem6v 6flemeBTUNED Kp
=K, =K x RT
The mole ratio of SO, and O, in contact process
agn@wpepuied> SO, wppib O, s&0 GewLBw 2 _eier
GLomed eflBaId =2:1
lonic product of water at 298 Kis

7.

8.

10.

11.

298K eeutiLiBsmeoudied Briletr HLiesliLIILI B &S DB Sp@SLD.
=K, =1 x10"molPdm*®/ ewrc* aL#i5°

Ammonia is manufactured by - Haber process

- eamuir Weon
For the Daniel cell E°=1.10V. the value of equilib-
rium constant (K) for the reaction (at 298K) is

SibGnesfiwn swmfléeLd wemm

Zn,+Cuiy) > Zng, +Cu
GLevflwied seogBett E°=1.10V erevflsd SipéaetorL eflemevtudlest
(298Kev) wred  (K)-ulesr wdiiy?

2+ 2+ - 37
Zn +Cu;, — Zni +Cu =1.55x10

gwBemeo

For a cell reaction

A(S)+2B* —— A**+2B the equilibrium is found to
be 10%. Then the E°  value is
SaaauL Weise efeneuier A(S)+2B* —— A**+2B

giBeneo mledl 10** ereufled Sigetr E° | i ereirenr?

=0.354V
The rate of diffusionis largein -Gas
sfigeucd 6ABFID HPHIDNS SBHSHGSD OLINBHET 6TH? — QI

Unit of rate constant of a reaction can be calcu-
lated using the formula

@@ Caudelleneruilen eflenenGeus mMedulienr Sevenass

SESELL LISTUBLD FesTUn® - littmol*"Sec?

Metallurgy

What is the percentage of pure iron content in
Hematite?

GamwemLL ams QdBDLSSTSHISHT60 2 6Tem &85 LWmen
= 60% - 70%
Which one of the minerals is widely used in dy-
ing and printing? - Lead nitrate

SmbLI6tT #5681 eT6tTE0T?

LetteucpsuetraumI6T 61bS &evfllold FMUGLHMISHEDd HMILD

g Bse0l60 Lipeueon sl LWGTLIGSDE. — b GOpLETL
___isyellowish colour of ore. - Limonite
__ LDEhFEIT [BDLPEBLW SIS — césmanaTLe
The molecular formula of Chromite ore is
&BumenoL gngefiesr GauBwwed euminin@ - Fe0.Cr,0,
The ore of mercury is - Cinnabar
LNSIE&S65 SNE| — FaraTumt
Which of the following is the mineral if magne-
sium? - Dolamite

0.

10.

G &eufAIGSetr SHevflLoLb wing)? — GLITGVGOIDL
Which of the following are carbonate ores?
- Magnesite, Siderite
etraueuetraumIsT SHMTLIGETL. STHIHSH6T 6TleWeu?
— O5ATFL, FLEOFL
Titanium - Rutile
oL CLesllusdetr sng) — QBLEGOLA
Which process is used for the concentration of
Argentite ore - Froth Flotation method
SNTREIEMLL STF| 6hS (PewDuled A TINNSSILGEEDSHI?
- peny bsiy Yaon
Which one of the following is the correct compo-
sition of Brass?
SpssauiLanmed LNssamerulenr sflwmer 2 Geonss-

-Cu-60%; Zn - 40%

seoeneuuilett ss6isLD e6tTen?
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13.

14.

15.

16.

17.

18.

19.

ESH’|

S ACADEMY

Blister copper is - 98% pure copper
— 98 gmw sliuir

- Lead

QBIMTLILOT ST SITLILIT 6T63TLIS
Galenaistheoreof _ metals?
sedeuimetedILg 2 Geonsddett HngiLemmer — smifiunb
The ore of iron - Magnetite
SpaerrLeubned GHLOLEA6s STHICWITHET 61817
— GHaTGHLL
Which of the following is the process of concen-
tration of metal in the ore? - Foam Flotation
snglefleo 2 Beonasdeit OEPlemer ANPHsLILBSSI0MS
__ aps®dm eetim| HeWLpESILIGSMEI?
- By 655D
Some metals are used to manufacture coins.
Among the metals, which are called coinage met-
als?
dleo 2_CeonsmiseT HrewrUmissT SWrfss LeTLGESDSI.
Slenauserfled ebg 2 GeonsmhiGHeT - HIewTl 2 GeomasmhigelT
61687 SEDPSSHLILBEDSI? -Au, Ag, Cu
Select the wrong statement
- Argentite is an oxide
SUDTET OFTHODTLEDIS HeTTBLIQESHOLD.
- Sifa@ATGOLLE Fit Dbbawao(h

Galenais - A sulphide ore

= G FROL(H STHIAUMGLD
In the extraction of iron from its Haematite ore,

the flux added and gangue formed respectively
are - Silica, iron silicate

&E06UTIT 6TETLIS

BmmU g6t QamepLL Sngefedlmhs NM565B8&ED
Gung GFMSELILIEBLL GaTsd HMID SFG LPewHBW

— Febmmm, @Y FobHEHI

Which one of the following is not an halide ore?

- Cuprite

SDSHELEUDMIET 6T6H6EN 6NN DTEHEOE HTH SeHLWINGI?

- BlicgLe

20.

21.

22.

23.

24,

25.

26.

27.

28.

Bauxite an ore of Aluminium. It is not available in
Indiain____ state. - Karnataka
ungemevl snglefled ey uflesflwib 2 Geonsd 2 siangy.
Bemeu PHSinefled HenL &g DMBevLD - Bt BILGT
The elements like silicon, tellurium and germa-
nium can be purified by - Zone refining
dledlsetr, O\Leyiflwid, a1gimomesfluib Gumesip Sevfiorisemern
SMUHLILGES LWeiLIBLD (Lpenm

- HIBHAYPDRTS HILIGHIUTSSH0
In which of the separation process, no reducing
agent is required? - Mercury from cinnabar
Spaanenib NM5605E6GD Wapuled REHGID Smewl
CaemeuwbD (LPEBM 6187
The toxic carcinogenic metal ion in the following
is

— FraTumfob bibsI uTHTFd

Spsanemib 2 Geons Hwellsaflsd Gomeira baasgemenip
aunihg 2 Georns el eg? =Cr®
The main constituent of steel in India are
Sidwnefleo  sitar GpLOLA6HT (LpSHBUI LPEOLIOWIMTBSIT
-Mn &Cr
Which of the following is a wrong statement?
- All the ores are not minerals

aIm&Swimiserfl 6o

&G

SOUDTETTENEN?

QBTGB &LILILBeTET e1g)
— GTOIT HBIHHGHID HafioriseT Edanoy
Which of the following is halide ore? - Rock salt
Gameneo® HTH? - urenp 2-iiy
Coating of zinc over iron article is known as

- Galvanisation
8oL gnpnetigerlleit GO GIHSHNSLD Lpseus)
= BICOQUCHATEFQANGHT

Which state has the largest reserves of copper
ore in India? - Rajasthan

Sibdwnefled MBI Ligey B peTem DB 6187

- @UTEGOBNGT

Electrochemistry

Elements like Silicon and Germanium to be used
as a semi conductor is purified by method

- Zone - refining
G HLEBSTaL LweTu@LD Hedlsesr, Ogmbmesluib

Gumettp S6vflLDMmIs 61T wemmuileo

SMUmLILIGSSILGB6TmeuT. - Yoo BMliGHDUTSBHR
On passing 0.1 Faraday of electricity through AICI,
the amount of aluminium metal deposited on the

cathode is (At.mass of Al=27) -09¢g

AICI, sempeed aufwns 0.1 ummGL WeiTenID OFSSID
@ungy, ePmdlesr (pemestuiled Lilu|ld SegiilesiluisSetr Sierey
(Aletr Stemy Bew = 27) -09¢g
The electroytic solutions has the least specific
conductance -0.002N
abs semrgedlled GOIUINLL SLEHHSED6T SewMeuTs
BmHEED -0.002N
The reaction which takes place at cathode of an
electrochemical cell is - reduction
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2B WetT Ceuds sevevfleo ardiTflstteurudieo [Bapld eflement
- DbBHASWAT BHHHID
- Zn|Zn?*||Cu?**|Cu
settellgenawing eflenest BapLD Ll6iT&60LD 61517
-Zn|Zn?*||Cu?|Cu

The number of coulomb required to liberate 127
g of iodide from potassium iodide solutions is

- 96500 colulombs

Which cell is feasible?

7.

3

1AS ACADEMY

127 & SiGwumgener,

smrgededlpbg OeaeflGubns CsemeuliLBLD oy ledr
- 96500 H.oylbsair

oucLrdwd  ACwnemL®

6T6T0T600M1 56008
The equivalent conductance of an electrolyte
with dilution

- increases till reaches a limiting value
R WeTuGeaflufleir Fwmer WeTELSEIBMENT [HiTs560Me0

- @G eMulrL vdiy amr Sidsfssb

Petroleum Products

The gas present in the pores of soft finely strati-
fied sedimentary rock is - Gobar gas
6ILDEBTEMLDUIITENT 6U6ETITL6D LITemD HB&HSS6rletr Flemearseriieo
9 _efterm eumuyeflesT GILIWIT 6T60T60T? - GBMUIT QI
Which of the could act as a propellant for
rockets? - Liquid hydrogen + Liquid oxygen
&S, BWsSSSHeMTeHL LWeTLG6S 615)?

- S aLYRAT + Syal SbbEgd
Which of the following act as the propellents for
rocket motors used in space vehicle? - Liquid H,
sflesoraeomisefled LWeTUGSSID TMeH6 &L GmLLmTsered
-$ga H,
Heat of combusion of Hydrogen per unit weight
is how many times more than that of hydrocar-
bon fuel? -2.5times

2 _hFIEILIMBETS 618 O\FWIoLIBGEDSHI?

R0 SGHULILL elenL HGSH6T emamL e erfBeneouwimed
SwLEGD Qeulilb ewanr@rraemiuenes eflL 6185 emeu
LDLTBIG SHHSHLD? - 2.5 wLPAG
An example of a fumigant is - p-dichlorobenzene
ey Beweouled QFweoLfluyb
SOIILALeyd
The compound is used as rocket propellant

Lp &S0 &Mev60l emW

- P—-onLBEaTNEYT QLGTEET

- Hydrazine

10.

11.

12.

13.

14.

In&asL erflaum@eT LweTUMLRH@ 2 LGWNS&H&sUILGLD
WIMB6IT - GOQDLSFST

The major component of natural gas is - Methane

Buihens sumuiefled EILITHLD LIGIG CLMieus) - 55e56T
Whisky and Brandy contain _ % of Ethyl al-
cohol? -40-50%
efleivd WOMID NTTHSHuleyeTer FeSed Sb608 a6l 6iT
5655107 - 40—-50%
Which is a natural polymer? - Cellulose
@ LIeOLIQ SUINEDSWITS SOLEHSTOHI? - AFGY SMGTD
Nylon is a - polyamide
EWIHEVITEOT (H - umeé Sl
Dry iceis - solid carbon dioxide

2 eoilbg LIGELIQ 6T60TLIS - ST BITUGT GIL ShBAFD
The calorific value of the fuel is of the order
- coal > lignite > peat > dried wood
erfleiun@perflesr &Geomifl LI euflens
- hoobaif > u(ply Hoobsif > e > e cvithp wyib
Fuel cells are used in - space crafts

eTMIEOILIMBET S606tTE6IT 6160 LIWLSTL@BNSI?- cictraquat GFLib

Fertilizers and Pesticides

Which one of the following fertilizer has the

highest nitrogen content? - Urea
SpsaEnemid 2 nrasefled 618 JHHs ieTe| ewbLTREMmETE
e\ &TeTTBETeng)? - upifium
_______isadesiccant herbicides - Arsenic acid
__ eretiug FOpMEhIlHEmens; E\ameoedlLIm@LD

- opitFafs Sliboud
The formula of triple super phosphate is

@pibemip gL LmehGuL it eumiiiun® - Ca(H,PO,),.H,0

Bidiesel is obtained _ - Jatropha
uGuimegeo - ewumliu@SEmg? - gaeaymium
Super phosphate of lime contains - Ca(H,PO,),
&LILIT Lmev@LIL. - emevLd 61631 2_J&ded @BLILS)

- Ca(H,PO,),

What is the percentage of nitrogen in urea?

- 46% Nitrogen
upfwimefed 2 st ewmpLIER6evll6IT SierTey eT6dTEnT?

- 46% aompgadr
The fertilizer which is called as ‘nitrolim’ is

- Calcium cyanamide
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10.

11.

12.

13.

14.

15.

16.

ESH’|

ACADEMY

6oBLGIMEOILD eTeiTMEMLP&SLILIBLD 21D - HredFb FUGTGRIDEH
Which of the following nitrogen - fertilizers has
high nitrogen percentage? - Urea
NetTau@HlD eMBLIR6 2 Trhisefled 61& 2 Wi ewHLTR65
NWEHTE C\SHMevurLg|? - uprfium
Which among the following is considered as a
primary nutrient for plants? - Nitrogen
SNG| EWIMBL 66D 615 (LPSH6L [BEWEd HTF) a1t EIITIHET 6T60T
SOLIAGSECDID

Bordeaux mixture contains

- GDIBLTE60T

- copper sulphate, hydrated lime and water
Gu (@B sevemauuieo S(HLILIE
- HId BISsIb (BiiuT Fd6uLE), BiTHS severewrmby wHmb Hiv
The chemical compounds used to kill rat and mice
are called as - Rodenticides
6160l &6iT DMHMILD SHeTTEIL60BEmET BTGNS LIWletTLIBLD
Geud5GHITDMIGEIT TEUEMN)] HEMPESLILIBS6TTM60T?
- QBmHLUUTGET ABTECEBGT
Which one of the following is a fungicide?
- Bordeaux mixture
LpEHFTET Q156060 - eumirLrb6o Hovanal
Rodenticides (Rat Killers) are
- Zinc phosphate and Arsenic
616018 E\&MELEOIG:6IT eT6iTLIG

- BI55HNa unGosuls DHMID S iTFafs

Bordeaux mixture is

GUNITLTE:610 SH606M6Y 6T65TLIS) - CuSO, + Ca(OH),
Which is an organic insecticide? -D.D.T
618 &I Ly,58&6\8m6060 DBHSI? - §olgelq

Choose the micronutrient needed for plant
growth -Zinc
Sheur euemigds@L LWeTUELD Hlewiesens Csiibes®

- pi>pHHD
The Nutrient Based Subsidy (NBS) policy for fer-
tilizers was implemented in India in

SFwmefled
SlgliLiemLufieonent LoMevllids E\BTeTens FHieUhBLI Dp6euT®

©_[TTHIS ETh & &IT 60T Qo' | §55 360

17.

18

19.

20.

21.

22.
23.

24,

25.

26.

27.

- 2010
An example of commonly used herbicide is
- 2,4 - dichloro phenoxy acetic acid
ewungleunsl LweTL@ESSILGLD SHenernd: 61smeoed

- 2, 4 - coLeorneym SatmHS SiFicys Sliboold

Which of the following known as complete fertil-
izer? - NPK fertilizer
2 _grugefled (pepemLpwimest 2 gib - NPK e grliadr

Explanation of DDT is
- Dichloro Diphenyl Trichloro ethane
DDT eretiugesr sffleurédaid
— OLBEOTNEY GHLUGTN YT GEGTIEYT FHEHGT
In pesticide the example for contact poison is
- Rotenone

Lp&FE aamevedlserled, OSMLITL eMagsSNE& @M 2_FNIewrd

— GMYGGTTGT
Which of the following is an disinfectant?
SoBrde DBHS - DDT
Phosgene is/ unevedeir eretLig - cocl,
DDT is an insecticide, which is prepared from
- Chloro benzene + Trichloroacetaldehyde
DDT eetip pedlsasmmeoedlwimengl, ereummled b ba
swunflssUuGang?
— (HEOTNSTNAUGRTEART + LGOI — GHCOTHEYT FLLICO—KMAD(b
2,4-Disused as - Weedicide
2, 4-D -6t uwetrun® - BANGTHABMCE

What is the chemical name of DDT?
- Dichloro diphenyl trichloro ethane
DDT -ufletr Geudie\iwir eredrent?
- GOLGEATNEIT GOLEGNGTCd GO EGHEATIGTT FHEHET

Among the following pesticides, which one is the
least persistence in environment? - Sevin

& esneelsefleo, 68 WsH GMDBHS SMEOD

&OMIFFHPeN6d FhS SHSHGLD - QFaicr
Bordeaux mixture contains___ -CuSO, +lime
GUITTIQUIMESEN SH6DEE ETEDTLIS) _ Op@D - sevreurmiby

Physical Chemistry

Which of the example of metal deficiency defect?
- FeS

The signs of AH and AS respectively, for the reac-
tion

SO 2 G6ONs (PEDDLIMDESITEN 2_SHTT6TOTLD 6187

eflemevrudett AH woHmib AS wdliysefsit GmissT wennGuw!

’

3.

4.

Which reaction is not feasible?
setrellgenawins Bapng eflemesr

- Cu+H,S50, — CuSO, +H,
Glass is an example for - Vitreous State
SevuTeTOTTIQUIMESTE| _ [Bemeoemibulled 2 eiteng)

- dlerfiudio hancwamip
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Artificial rain is formed by using - Silver lodide
QFWIDHEMS LDewLP OWIMAW LIwWesTL@LD G&TLbLD

- Fdault dleumenLp
Fog is colloidal solution of - Liquid in gas
uevllLiL|ewa; eT6dTLIG _ - QuTGAcd HiTipid 2 GiraT pivid
The catalyst used in Bergius process for the
synthesis of petrol from coal is

sMuledlpibgl aedwen wpenpulsd QLILECITENed OSTSLIL|

8.

3

ACADEMY

pempuied swnfssedled LWeTLGSSILGLD eflenenGeus
M - Fe,O,
Example of Lyophobic colloid is - Sulphur in wa-
ter
SEDILILITET 61T FaLPSBNGS TRSHGHTLE - Hifed F6d. Uit
Tyndall effect is kind property of colloids
- Optical Property
lpeTuTILIT6d  eflemeanney eTelTLIG SelpMmisefledr

LI6BOTLIMGLD. - Qerfuiucd uesry

Bio molecules

=-133°

=-133°

The specific rotation of o - fructose is
o - Lp&GLndlett gevfle &phdl
Carboxy peptidase enzyme contains the metal

- Zinc
- pIdpHNHD
The raw material used for the manufacture of
Rayon is - Cellulose

smiLn&ert ALILIGLerbl6d 2_6iTar 2 Geomasid

Gruwimesr SWNTfSSLILWESTLIGLD eLpeoLIOLITBET

— QFEICMTGD
Which organic functional group forms the pep-
tide bond of proteins? -amide
LIss860 2_siterm 61LILIEnL® LNenemrLiLflenes 2_(heums@Ld sifl.o
sflements, OFNGS 61517 — Siamp
What is taking place actually during an ammonifi-
cation?

- Proteins are broken into ammonium ions
G&PILLTES AHDGNelllNGseaessT HewL QLMD GG eTebTent
BaDeays6T HeLOLNIBETDS)?

- ygsb sibewrafur Suafurs 2 oLEDH
How many asymmetric carbon atoms are present
in a glucose molecule? - Four
RMH GEHHCHMEV cpSFNed STeOTLILGD 6TSS
Ehemwibm a6 Semisseflen eeenfieams - HIATG
Blue copper protein - Ferritin
Beo MBI Lggib — .Quitifieger
Hydrolysis of proteins give - o - amino acids only

0.

10.

11.

12.

13.

Lrshisenet BImhLGSESLD GUg SenLliLg
— o — 2lbeaTm SlbeoriiBET WIeHid

Nuclei acids are high molecular weight polymers
containing

- Phosphate group + Pentose sugar + Heterocyclic

Base

Bupserlles SHLAeOrISET 6T60TD NP eLPeOSERM) ETENL. 61STETITL
LieoLiguiled 2_6iTarTemey

— umeiosuL OBMGS + QUATELIGO FiTSBGMT + LCCSET QIGHATL

smyid
Write the type of linkage between glucose and
fructose in sucrose? -C,-C,
&&Grndlev, &EH5CHN&LD, SUISGLT&LD
LNeDETTSSHLILILIQHESLD LNEHETILIENLI 6TDE) -C -C,

Write the correct example of Trisaccharides?

- Raffinose
LenIFM&SHmIBGas@hssner  slwmer  dBGSHSHSHSTL ML
(€55711519851G)
What is the name of the solution containing equal
molecules of D(+) glucose and D(-) glucose?

— gmidearmeio

- Invert sugar

e sl D(+) GepsGsnsb D(-) GepsGsnsb sn
SlerTefled GBHHSTE0 HHBHEDTFEOETT CIILIT eT6dTewT?

- qiSitayd)#F Firbsany

The significance of lodine number in oils and fats

refers to - Double bond

eTeTuTE160TUI LDMHMILD O1&MPLILN6d 2_6iTam SHBWIMIQ6T 6T6vor

___ memlssbd

eTEaTLIG) - @yecoL fenewriiy

Applied Chemistry

Which of the following material is used to make
control rods in a nuclear reactor? - Cadmium
sedfiomisafled, @ Slamisa® 2 meoulled s GEUUTLGS
SETBSET QFLILLILILIETLIB6US) - smeibund

The name of the Atomic Energy Research Centre

- IGCAR
SIOIDBLIEED SHeWIDHS BHHSID AW SHHMEO SpTmiiIEs
EOLDUISH60T I ....... SpH&LD. - wasit

in Tamilnadu is

The chemical name of Aspirin is

- Acetyl salicylic acid
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15.
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Spenoliiflesr pBHetT CeuBLiaL T

— DIFGOLGd FT6Fo6H Diboold
Whic is used as anaesthetic - CHCI, (chloroform)
wésGhSTS Lwer smeugl — CHCL, (@earmegmumiib)
An ester used as medicine is - methyl salicylate
LDBBSMSLI LIWeSTLIBLD ersfoLiT — 55 FreéFeouL
Which plant roots yield powerful Alkaloid, named
‘Atropine’? - Atropa belladona
sneug GeursefledBhbg ALBIMSHLI6H 16T Sp6d&HeoMULIB
f5056EssLILGSDS? — SlLL6MUT AU SLTGTIT
Which is used an anesthetic - di- ethyl ether

LDWI&S ELPLIQUINTSE S\FWIOLIGSEME) — oL — GTHHN RBIT

Which is used in making ointment for curing skin
diseases? -ZnCO,
Bzmed  GBIOWS — GWLULBSHHD — seflbysefed
LWETLGEDSI? -ZnCO,

Which compound is in wintergreen oil?
- Methyl salicylate
@b efletTLidifetr eretoTemeTITUNEd 2 6iTENTE).
- Q55N FmoSFEoL

When a glass rod is rubbed with a piece of silk

cloth. - electrons are transferred from glass to silk
LGS glewlludett L5g) settTeniie Gevorigemert CHUISSD CLITE

— GTooBLgNATHGT HovrawTmyuicbhHsI LD AFNSENSI
Carborundum is - Silicon carbide
SMTCLIMTETOTLLD 6T63TLIS) — F68mBNGT BTGOUDH

Which of the following is a laughing gas?

- Nitrous oxide

Afili eureuemLPSSLD eurmu ] — EOBHLEYA0 DbHMFDH
Methane is the carbon compound. It’s Molecular
Formula is -CH,
B5CH60 @ SHMTLMET E\&HTETBETeT @@ PEVSFaM]
SIS eLpe0&Fa M) eUMLILILITG -CH,
........... is called buckminster fullerene. -C,,
LSLI6BAl6TOLIT SLIE0EOIT6DT 6T60T SHEMPEHSHLILIBOUS) . .. ... SHSLD.
-C

Graphene is used for manufacturing bendable
smart phones. What is the other field for which it
can be used? - Ultimate water purifier
LDL&S 80191 60D enaLICLIASmeT SIS0 S Setr
LWeTU@SSILGSDSI. CLOaYID g LLTLUGSSILIBLD Slewm

— Dlodyewre Hir aSSHiY FrHETD

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

One carat of diamond is -200 mg

R SNIL eI6ULD eTeaTLIS) =200 b5

Nitrous Oxide is known as Laughing gas. It is also

used in medical field as - Anesthetic

6WIBLIT6 160

A &EDEG
SemP&SHILGHEDS. Cayd &I ES3I6 Slennuisd

Afiing @b eumu
- wubs LGHHTH

What are ‘cutlets’ which are used in glass

industry? - Broken glasses
SetoTeToIY E\SMAHETEneoUT6d LIWLIGTLED ‘Breeor’ ereiiug
6T6T60T? - 2 anLihD BATGRTTY. FANIBGT
Which one is called Buckminster fullerene? -C_
a18) LigLlesfleoLit Ljsbeorfledr eresTm) HewpsaLlILIBSDS?
- C,,
What chemical is used in solar cells? - Cadmium
&l e\Fevaerllev erbg GeudliaLIMBsT LWETLIGSSILGSDSI?
- smieibwb
Which is used as explosive? - Nitroglycerine
618 O\QUIQIDHHFTEHLI LIWeTLGSDEI? — GOpLSYT HarfFifcr
The compounds sodium benzoate and potassium

metabisulphate are used as - Food preservative

GFmewid  OuerGFmGwr  WHMID  OumLTAwb

6L LTemLIFEOGLIL SpBuleet OpaL1 LweTLGSesTmeDT.
- 2 rQUAUTHGGT UTHIBTHS
An allotrope of carbon discovered by Richard

Smalley. - Fullerene
fégir e evbmedl SinfeNweomeniaer sewrLmiibg SLieulleor
LmGeuhmIemid aulgeuLd = yodoorfadr

Which of the following is used to prepare Vin-
egar as a preservative in food and fruit juices?

- Sodium Benzoate
©_ewoTe)] LDHMILD LIPSFFTMISH6T E)1BLTLDEL R(H&e G&TsaLILGLD
eflesfla swinfsel LweTL@ESDE? — esmguib GuaTesTSL
The largest Atomic Research centre of India

- Bhabha atomic research centre
Sidwneflesr WsLOWIML e SpImiss epwibd
— umum SieRE ShymiFsF b

The Precious ruby stones are - Alumina

6flemed 2_WIMTES ehLT HDEHET She0 SpeuTENE - loyibarm
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Environmental Chemistry

The main constituents of photo chemical - smog
are- Oxides of nitrogen, Ozone and hydrocarbons

@efl GaudliLims epLLESD 2 6Tem WPSHSW CUTILSEamIS6T
WITemex ?
— OBHLETRAT DbBAGOHBGT, PEFTGT DHMID CnamLyT
BITUGTHGT
Which of the following is used for artificial rain?
- Solid carbon dioxide
QFWHens emLp AW CossHetT L5g SreuliL@eug) e15?
— $L BITUGT oL ShHamerodh
Which of the following is a green house gas?
- Carbon dioxide
SWeiTameuHMI6T LIG6EHLD GSLPed GUML 6187
— BNITUGT — GOL — DhbaF(DH

The Epsom salt which is used as laxative is
- MgSO,.7H,0

LDEOLD BETHBUINTS LILIGTLIL SFalpul 6IIFD 2 LI wng|?

- MgS0,.7H,0

The Ozone Deflation in mainly caused by the gas
- CFC

@Caneir Jiflefement SiPsenelled 2 (HOUTSHSLD ULy
- CFC

The Ozone layer forms naturally by
- interaction of UV radiation with oxygen

Buihensuled EFMEI LIL6OLD 2 (HEUTSHS SHMT6wILD

- UV ssitadr opbfaagiLar @eanLuip SanLaismd

The percentage of Nitrogen present in the atmo-
sphere is -78%

10.

11.

12.

13.

6161 6UETE)Y

&FS6l G
-78%

auefiDetoT 05860  WIB LT ER60T

BB&EDSI?

Which one of the following is known as ‘Dry ice’?
- Solid carbon dioxide

SpsauLapmeT g 2 ef uefssle’  eem

DL &EBTGMMLD? - SLiEGOS BITUGT GOL Shbaneob

Nitrous oxide traps how many times more heat

than carbondioxide? - 300 times

MBLI6N Db&HMe®B, HMITLET - 6Dl - Sh&HenervenL eflL
1556M6T IDLMEIG HH& QILILISnS 2 1leh&iLD?
- 300 wLEG

Air polluting photochemical smog, PAN is
- Peroxy acetyl nitrate

QI |S&emen T&ILIGSSHID @6liGaudll Lens, PAN eetLg

— QUITHE DNFIGOLG GOIHLETL

Which chemical is used in seeding clouds for ar-
tificial rain? - Potassium iodide

QEWMHeMs 6D AUMPNaISHETS Cas5H60 FreuliLGLD

GaudLIOWIT(B6T 61817 - QumeLmFud SeuraLb

The chemical mainly responsible for the car-air
bag reaction is - NaN, (Sodium azide)
wépey 2 mhgefleo 2 61T STHOMIL ewLUTDd HLEGLD
Gaudellemeniad s wpsBuwibmen Caudullied QLT

- NaN, (@smeuib Sisui)

Which of the following gases accounts for the
maximum of the atmosphere? - Nitrogen
6bS U euerfinemrLeogBed0 HHHs Diemefled 2 siteng)?

— GOIBLLTRAT

Polymer Chemistry

Neoprene is a polymer of the following monomer

- Chloroprene
BGwmssLifletr eT6tTn LievLIQ GFITLDLD, LA6sToU(BHLD 6THS R Lilp
GEMDSHENS E\BMETUILGI? - @earmegm.. i

The catalyst used for the preparation of Teflon is

- Benzoyl Peroxide

3.

eLLieomedt suimlsasILweTLED efenesr 2o1dd

— QuATFmHI®S Quitgrbenarod

Polymerization of which one of the following
monomers produces a synthetic rubber?

-1, 3 - butadiene

QFWMHens TULT SWflés LweTL@SSID GG 618)?

- 1, 3 —eLrenLuic
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ESH’|

ACADEMY

Which organic compounds polymerize to form
the polyester Dacron?

- Dimethyl terephthalate and ethylene glycol

6hg &6vflng GEMIDLD LIeoLIQWINSSLILIL(B 6\L&ImedT LimeSlsioLit
SmLESDG|?

— ALOLSHN ALfiipmeos: wHmID 155086 HanaTHHncd

Chemical name of Teflon is

- Poly tetra fluro ethylene

QL Lieomedt eTetTLIS6ET CaudIeIuIT?
— umeS OLITTL@BSTT 61550865t

Which chemical product is mixed in the

polyolefins plastic bags? - Benzophenone

unedGuImGeossiSeiren ereirm Lemmeivigs: ewLG6TEd H6vhE)

BHESLD TFMU6ID e15)? - QUATEFmTSGTIGET

Thermosetting plastic is - Polyurethane

QulILIGSTd BMIGLD LNeTmeiviess — UTESWTEHGT

Which one of the following is a thermosetting

polymer? - Bakelite

10.

11.

12.

13.

SLDSHETITLOUDMIET 6TemeY RETTM| ACULILISSHTE GO LI6OLIQ

SpGSID

— susanovle

Which one of the following is incorrectly
matched? - Orlon - Glycerol, phthalic anhydride

Nstreugpeusteued 618 Ffing: SLITBHES6eM6oeme0?
— BbITINAT — HafFgTed, HM6H Hife6

An example of natural polymer - Cellulose

Bubenswinest LTEADT GsMbSENSG TBSSHHSTLG
— QEdISMTGD

Natural rubber is
- Polymer of 2-methyl butadiene

Bwhens TLILIT eT6dTLIS)
= 2—-Q556d TUpLLTGOLUTGET GTATUSET LowLIs

Which of the following is an example of conden-
sation polymer? - Nyloné, 6

S SHEWLEUDHMIET T6meN GMISHLI LISOLIRHES 2 &TTewrid

Sp&LD? — GOHOVTAT 64 6

Polymerising methyl acrylate in presence of
polychlorostyrene yield - Graft polymer

&CernGrmevemLifeir LieoLilg peiterllemeouiied 61D&Hed
Sisemgedll. G&sgl LIoLIQUITES6d 6flenes:d 2 LI LIBSHSID

Gung SewLLILg) — Qe Lol

Carbon and its Compounds

Which one of the following reduces Tollen’s
reagent? - Formic acid

NetTeudheuesTOUDMIET 61HS Q6TTM| LITev6dTe  6fl 6w 60T

sngenienw GHSSDE? — ummb&SNbooid

Which of the following reacts with phenol and
produced bakelite? -HCHO

LNetreupeueTeD mI6T eGenIL6T fered GabE GLEmeL

2 maundmg)? -HCHO

In Schotten - Baumann reaction the product is
- ester

6OBIMLL6IT - LIGUEILD6T eflementudied eflemevteflemerm OWLIMIHEIT

— TgloLit
Ethoxy Ethane and 1 - Methoxy propane are

- Metamers
R&SNa6r0 FHGSH60T DHMID 1 BGSTEHed LIliGLet Syuiene
- @anewr wrHHuriseT
Passing vapours of Ethyl alcohol over heated
Alumina gives - Diethyl ether

QaulILLLGSSLILLL Jeyblent 55 15860 Dhe0sammedlest

OLefleDW O\FSBETTE0, O _ETILTOUG — — GOL CTHH RBIt

Glycerol + Oxalic acid 533 X, X - is
- Allyl alcohol

Serflegmed + Spsenomedls sleod 333K 3 X, X eredrigy
= BN DpNBANITCS
Which one of the following gives anisole on

heating? -C,H.,ONa + CH,|

LN etT 6 (6 6 EBT6U DM 61T aeiLlIL@g Besrmed

- C,H,ONa + CH,|

615 6W 60T

IierliGamed HewL&HGSLD?

Which one of the following compound
undergoes Canizzaro reaction? - Benzaldehyde

Weteupld G&bmisafled o8 seirellanCGrm eflenen s

2 u@b? - QUATFTOKRDM (b

The isomerism exist in 2 - methyl- 2- proponal
and 2-butanol - Chain isomerism

2- aWgPed - 2- LGrmLiLesTmed HMID 2- Nuyl L eormedled

2 eitem OMHOILID — Friboé AL wrHBud
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10.

11.

12.

13.

14.

15.

16.

17.

18.

The reaction in which picric acid is formed from

phenol is called as - Nitration
Senrnelmba N6Ms e swré&Sn eflenesenw
SmPSESILGSBDE!? - ompleegneyHud

Carbon forms large number
compounds due to

of organic
- Catenation

SITLe AHPsLLuiner sifllp G IDMHIGENeT 2 (HeuT&Hs

&M 6uuTLD — FruH66 ApMLYTHHD

The compound formed when aniline is heated
with Fuming sulphuric acid at 353K is
- p - amino benzene sulphonic acid

Slevllellement LewSWD &HbS HOSSILET eUILLILEGSSID
Gung 2 (Heun@L G&LDLD
- P - olbeaT QUATFAT F6d, .eumcsts Dibooid

What is the order of Boiling point of amines?
- Primary amine > Secondary amine >
Tertiary amine

Sibetisefiesr &P Beweo eurllens wing)?
— Qifancwriu DBGT > mifancwTiu Db
> apaficmewriu DbGsT

C,H,OH + (CH,),SO, M=ot , X +Y X and Y are
- Anisole + methyl hydrogen sulphate

C,H,OH + (CH,),SO, a0 s X +Y X iopmitb Y apemmGu

— SiafeFmed + QHH0 ADTRET FOOGLL

Which one of the following organic compound,
aldol condensation reaction does not undergo?

- Benzophenone
Wetteuqpid &ifling Geribmsefled ebs GFMDSHED DheOLIT6D

GNI&S cNemewt HEOLOLIDTE? — QudsteFmisaTmeir

Which compound does not undergoes haloform

reaction - Methyl alcohol

6bg GFD GamGeom LMD efleneurad 2 L LILmg)?
- QLSS SpABAMITED

Which one of the following is the correct order
of dipole moments for three isomers of dichlo-
robenzene?

- Ortho isomer > Meta isomer > Para isomer

LesTeupeuenTeubmisT ewLEHGGemmEIm elLieirFevlledr eLpetimy
wrhwrkisefler Gdmwpenens SmLULdnetgefleir sflwimesr
auflems 6157

- SbitHesm wrHHud > awieLr wrHHud > urgmorHHiubd

Fumaric acid and Maleic acid are
- Geometrical isomers

19.

20.

21.

22.

23.

24,

25.

26.

27.

3

1AS ACADEMY

SoLiupoifls Siusleold HMID EWDedluls SHleOD Spiiemey
- aiga wrHHuriser

What type of complex reaction is, bromination
of Bromobenzene? - Substitution reaction

LGonGLom euetréement LGIMBAIGeTHMLD E\FUILLD 6M6n6uT 6TThg

ouemas Flageomen eflemesr? - wrHm cfaner

What product is formed after 2 moles of aniline
treated with carbondisulphide?
- S - diphenyl thio urea

8 apevsdamn Jiesflledlener SmTLeTENL FeoemLIBLETT
sflemevtfl O\FUIL LD BLINg) GETeiTMILD eflemeTaWIMT BT Wimg)?

- S - eoLiamarcd pewm upifiur

Which one of the following compound react with
Grignard reagent to form carboxylic acid?
- Carbon dioxide

Slermi® snpenfl argamiLetr eflewenrfibg snUT&s608
SO0SMS SHBME- — BTUGTGIL Shbma0D
Phenol reacts with formaldehyde gives - Bakelite

ewred LimTiomedigemaBL 65T eflenesTLi B 25 SHSDG|

— submsanoculs

Which one of the following does not have
o -hydrogen

LRstTex(B eu6ITOUDMI6IT 616D L - EMEUDL TLRETT FHEOENED
CH,
I
CH,-C-OH
I
CH,
Oxidation of glycerol with bismuth nitrate which
gives - Mesoxalic acid

Serflermenen, lsvibg ewBLEIL 2 L6 Shsedl@arhmLd

QFWIWID GUITg 2 6TuTLmeug) — bz Shbaomeésh Sibovid

Which of the following is called rectified spirit?
-95.5% ethanol and 4.5% water
SpssneurueDied erfMamImubd a6 AHewpssLIL@eug
618? — 95.5% G155aTed )M 4.5% Hevorcst it
Which one of the following is not an allotrope of
carbon? - Butane
etTeupeustreaumnied smieflesr UnGeubmien CHmibmLd
Si6LEONSH| 61517 - fupeLar
The arrangement of Carbon atoms in diamond is
- Tetrahedral

EDEUTSBHED 2_6iTe SHITTLIGH HemIsaserilest SemipLiL
—- praTws Sienwily
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ACADEMY

Chemistry in Everyday Life

Exposure to _ light may accelerate aging

- Blue
B @6l auwens HfsILGSS @D - hooid
Marble contains ___ - CaCO,
Fevemeus; sevelled (Lefimu@) o etengy. - CaCO,

The compound used in breath analysis test for

drunken driving is - K,Cr,0,

D&l JH(BHS UNSHEID RLBEUDS SHTBLISESD SeumsLl

u@LILmile) Gengeemuis LweL@D Gsfion - K,Cr,0,

Which of the following gases are present in the
Sun? -H,, He

etreu@pb aumssafled gfiwelled Sifsbns smewrliLGLD
-H, He

QUM GEHEIT 6T6W6)7?

Which of the following Noble gas is used for
Inflating Aeroplane tyres? - Helium

ereu@pld erbg 2 wiflw eumuy Sp&smwl eflLbmeurhis erflesr

Lwiisefled Brlieush@l LweTLGSDE? - Qnjobuid

Which one of the following is not included in the
National Air Quality Index? - Methane

SpaeLeupmiet 615 GsAW sTHM S5rH GMIUILIREd
Ga&sUULeflevens? - bjeper
Why vegetables and fruits trun brown on cutting?

- Due to the reaction between phenolic
compound and oxygen in air

10.

STWSMISET DHMID LPHISDaT eIl mel&&LDEUTs)

upLiy BoLms mmieuGse?

- srHHNIGTaT ShbadeRdT HmId eTmeés SFiTbD

cAanaryifaismes

Which one of the following is mostly subjected

to recycling? - Glass

Spsanamueupmled 685 HHs Alemefled MEPHA

PONES 2 LLESSILGSDE? — BT GRT T

Nicotine upon oxidation with chromic acid gives
- Pyridine-3-carboxylic acid

&CIMss AHfleod LweTLBSS BHCHTLIgEN CFTDSHMS
Sp&erdlggGehmLD S\FUIaSTed SemLLiLIg)

— fifiledT—3—snituns5665 Slibood

The chemical compound responsible for the
smell of chlorine in the drinking water supplied

by Corporation is - CaOCl,

wIBsITLAS Gwmuled efBGUTBSsILEGLD Glesetrentied
&Garniflett eSS DGSS SMTEwIDTEN GEUSLIOLINIH6T

- CaoCl,

metal is found in the controversial

product of Maggie Noodles. - Lead

gigengs@Mi Gd mTBevsv SWNlifed sHeobgeTansnss

FaoULEGLD 2 Geonasbd - mub

Organic Chemistry

What is the IUPAC name of isobutyl alcohol?

2CamiupemLed Speomamredsst IUPAC it eretren?

- 2-methyl-1-propanol

-2 - Qw350 — 1 YFUUGTITEd

Solutions

The carbon dioxide dissolved in water

Biiled HEWIHES ST DL Dp&HmFD

- enhances corrosion

- oiflienu SISslubSBIENSI

m anagih@i - 99445 11344 | SmomsuGeuadl - 98942 41422 | @ymommsypd - 75503 52916 | wgieny - 98431 10566 | @aememen - 97555 52003 | Gamemeu - 90433 10773



